409 ( )=
5
E+n  x 10 E+3 x 1000
(kg/ ) (kg/ )

1
2
3 7.2E+1 72.0 3.0E-1 0.3 723
4
5
6
7 2.5E+0 25 25
8 3.0E-1 6.6E+1 66.1 7.8E+1 B.7E+3 8,791.8 8,857.9
9 3.2E+1 14E+2 1732 1732
10 2.2E+2 2200 7.8E+3 9.7E+4]  105,250.0 105,470.0
11 5.3E+1 41E+4 41,260.4 41,260.4
12 2.0E+0 2.0 31E+4 30,990.0 30,992.0
13 5.6E+1 56.0 56.0
14 15E+1 152 2.7E+1 1.8E+4 18,108.6 18,1238
15 3.0E-1 0.3 0.3
16 8.3E+2 830.0 8300
17 8.8E+1 88.2 88.2
18 6.6E+0 8.9E+1 95.6 95.6
19
20
21 5.6E+0 5.6 5.6
22 3.0E-1 03 6.1E+1 60.8 61.1
23 8.0E+1 80.1 5.0E+3 1.8E+4 22,8704 22,9505
24 5.0E+0 5.0 24E+2 2426 2476
25 34E+1 3.5E+2 386.5 3865
26
27 2.0E+0 2.0 1.2E+3 5.2E+4 52,777.7 52,779.7
28 5.9E+1 1.0E+3 1,073.0 1,073.0
29 2.3E+2 2300 2300
30 8.5E+2 850.0 1.5E40 1.3E+1 145 864.5
31
32
33 1.2E+3 1,152.1 1,152.1
34 1.7E+3 1,700.0 1,700.0
35 45E+3 4546.0 5.8E+3 5,800.0 10,346.0
36 1.0E-1 01 1.0E+1 100 10.1
37
38 45E+3 4,500.0 4,500.0
39
40 1.7E+0 17 9.0E+1 6.3E+2 7247 726.4
41 3.0E-1 6.7E+1 67.3 67.3
42
43
44
45
46
47

3.0E-1 8.5E+3 8478.7 1.5E+4 28E+5]  294,643.9 303,122.6
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